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Precalculus Name: k%

Review HW — Section 3.1-3.3

Directions: Answer each question without a calculator, unless otherwise specified.

1) Determine if each function is exponential. If exponential, identify a, b and whether it represents growth
or decay.

Q) f()=x" ) f(x)=4-[§j

not exponential Decay!

a =+ b:-:.z/_g

b) f(x):(é]_ = 37 d) f(x)=2-(0.88)"

o[{’,&mg )
growﬁnj .

a=] b=3 a=2 b=0.8%
2) Find an exponential equation for a function whose graph contains the points (0, 4) and (5, 600).

You may use your calculator to help you compute the “b” value, but vou must show algebraic work to support

your solution. y =a-b”*

600 =4+b°> )3:%(5@_7;2,)" /

b=3.72

3) Evaluate the function f(x)=-28": No calculator!

o 2 9. 3
T = - - 7 = — - . 2
a) when x=0 2-9 ¢) when x 3 \/,_,8’—

-2 -1

2 22

_2_‘,{_

b) when x=-1 -9 | 2 -
3

4) Find the y-intercept, limit to growth, horizontal asymptotes and the y-coordinate of symmetry for the
following functions: No calculator!

—-nt
o :L Y-inl _ 9 a
° /&) 1+3(02)"  (0.%) b =3 (0 5)
c=12 c=9
- - — | —= — y ="
G, 5
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2) a) Write an exponential equation using the following information:
Initial Value: $1000
% increase: 2.4% per year

Y= 1000l v.024)

b) When will the value be equal to $12007 (Calculators ok!)

(200 = 1000 (1.02%)*
[ A——
=3 Y2

l v 1.69 ye w"\g
6) The half-life of a certain radioactive substance is 150 days. If the initial amount of the substance is 100

£, determine when there will be less than 10 grams left. Write the equation and then use your calculator

sS01ve, ! X
to help solve H — loo(_z,) /150 %QG.ZOI

10> 100 (%)%}

O . Sl A
‘/_; Y2

(%El'er Uaqg.29 wewrg

7) Write a logistic function given the following information (Cale okay, round to the nearest hundredth):

Y= c

initial value = 10 limit to growth = 40 point at (3, 17.5) |+ - b*
(0,10) c =40
40 7.5 = 40 g\ﬂ = _,_,4-_9’-/-—7(
10 = j+3b 3 | +3(.75)
L0
I+a-b 7.6 (1+3b%) =40
10 +]Do= 40=>a=3 b?=.42=>b= .75
8) Evaluate (without a calculator):
4. logz 16 c. Ine e, logl 8
2*=le er=¢e

2
@ @ -i"’(.:g

b. log0.01 d. Inl
x = 2 e
lo™ = po

-1
@ 0% = |ooo” ‘?

9) Evaluate the following with a calculator:

a. log217 b. log(-15) e In(0.345)

2.3+ Jou -1.06

1
10) Deseribe how to transform the graph f(x) = In X into the graph g(x) = —E]n(4x —-1)+3.

. verficac horizonTalL
,(y\e;\s\oo;w\ OFlip over x-axs MD- 1
A
17 (,\,\M’ AoHE Shvink bafo 2 @slm’l Nk bafo

va"\m’“\w ® 13
W

Review Page 3



